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aremnmeepeesssl  For use with pages 3-10
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'lden'tify the 'pro'perty shown.
- 10.4a f b+c)=a+(c+b) C]omm yN A ﬁu&_ e WPe 2T

| 12.a+ (b * .3)_:_(“ * BD+3_ RssaciaTive  Pr olsaT™
" X+ (-x)=0p 2t~ 7 Bas
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1. | (v = o+ b Tvemity Proberty (mylT
13.bcta)=b-c+b-a
15.a-b+0=a-b
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1.2 i Practice C
[UURIII]  For use with pages 11-17
Write thé expression using exponents. i .
_ 3.-3-3-3-3 =3 /3)”" = |-3"
~ 4. (—3x)(—3x)(—3x) + (x * x) ‘5. —6 to the 8th power @ Loaasna3
7 - . b " =
£3x)2+x*, | )
Evaluate the expression. : , _
7. 4 +3)(—1 + 5)2 . 8 (-8+6+(3-12 10.(B-1D-2+(=3) - 1. -2B5+@B-5)s
1) =7 (W) = B S (Z 2+ -3)° :
(2)%- . ) P Ny
_ (V)2 -32-32-
3 | 1] |-6#]
Evaluate the expression for the given values of x and y.
' ' ’ ' ' 2 _
14.2;%_,_—}}1)whenx=—2andy=—5 ‘ , 16. x+y .whenx zandy 2
S | : » (V-2 -3 (=D% =
5(2+s)  §5(3) i 5 2-7) "2 V-3 -z
2(:2(=s)+\ T 4 T 7 p=3)2 — I T -1
—? [

Simplify the expression.

18,602 —2) =32~ __bx?-bx ~bx+3~ (Y x?-1x |
LAty -ty XAy XA I ol 0
21 2+ 2@ - )+ 2+ 1) yO42¢ -2 4y 24x° X X2+

20. 4x =) + 30y —x) 4y ouy + DY = O =

22 05(2¢+8) - 32 -3y 44—, +9¥




Practice C

For use with pages 13-24

Solve the equation. Check your solution. .
5. —4(3 —x) + 6 = 2(x ~\3)
—2uny L =2x=6
: H X =-(p, = &%~ G

6. 3G+ 1) = 4 — 32 + 1)
2 axt=N - -3 o z(Msy=Y-3(3)4)
2ax 2=~ lat ‘7/L_'(_ -4 -9y
TR = —\ \3ly = 4H-2"I4

| 2ly= 1347

7.31—-x)—(3+x) =38 10. 32x +8) =5~ x ¢ %(:‘s”r*f - S+is
3-ax-3-x 78 ey s| 27T & A
- =¥ S =5 +2x -b 77 Z_:l c
@ (3?)_51:)(:_"% 5
i X=-%s 5—'2/.5’—5“1/

15. 1.5(4x — 2) = 2(0:5x — 3.5)

| | S\ | =
i%’f :—V-:—'\TL "If( Y+ 3) QX "Z) '% 47_)
e b 2= J: (-Zu): _Li = % 413 —L:Q ¥.2)

-2 1/ X = \ 4 : X= = . .

VA g I - A it o

2ER ] wztls s (-$.2)=2 2 (-3,9)

X = Y o 1% = - gV

sz'a%( -‘Z.v{’-'ll_:?

e
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19, —5(2x +3) = 2(4 — 3x) — 4x

lox-1S % ~bx -1y

—\Px ~1S ¢ ~-\7}+*5
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Practice B

For use with pages 26-32 <, ., 2y . |

Weite 5y Y=/mMx+ F
Sowge FoR Y: Leave FeacTions a1 adé
i
1 —Ty=8 2. x=12 - xy N 8. —3x +7=2y+
= A -5 ~Wy= Xx-1z = .
7&“\,; X + g -k == a{— :_75’7—X+i
- hj T 1z s .
_{ .,ij I " X ’, (/A-—_ - f) 7
; = e — . l : -:,:' +T
Y = 3hx=%h ) \Y=2_, L
9. 8x + 3y = 10 10 %Z+xy=5x-
" = -7
?_‘g = =K% 410 )
3 32 2 Z% = 5?[ =)
\ \",.v? :_ | L e e X
| - AT = U = =& |
— 1 (%7 =+5 |
Solve the formula for the indicated variable. o
13. Height of an Equilateral Triangle e NT MR : -
2 ) o — :_, — K MEMm D L
Solve for s:|h =£@ e =2 s Ah |
15. Volume of a Right Circular Cone R :
2 2\ o _
Solve for h:<V ~ Tl ) ( el B = l
3 1K / 7 \ \\ = = \
17. Area of a Trapezoid LI
Y h 2
Solve fori: A = =(b; + b)) °
2 = zpa = hlomsD) = - ,'
19. Lateral Surface Area of a b +be Lerrea) = | h= LA ;
Right Circular Cylinder bit b= 1

Solve for r: § = 2nrh

> 1T =
&
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Practice C

For use with pages 41-47

Solve thei mequahty AND GrA AND  GRrA Pu.

1. —2x>x+
A - ke

1#_———? x 7 -3

O

-'\J%(
. 6. 4—3x<5(x+1)

Jxﬂ’\( Sx + <

o< 3 orgﬁ 30 @ @ L_-:.E%K_Q_% —@
%b:iz I::A /’// 9. —4<3(x+2)1y<‘2
l‘%;:g&—?—(:ﬂ*—@~éﬂ_ o O—s | Rl 102
-2 -9K 3K -3/3

Decide which inequalities have no solution and which inequalities

are true for all real numbers.

17. 3(x +2) —4x > x — (2x — 8)

Zx+b-YX 7 A-ZXxX+ ¥

:;;QO):}*‘ES

¢ >3

C j__"???‘fl

18. 5(4—x)< —4x 4+ 20 — x
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— o For use with pages 50-56 Xz q° * }( _.I-En’—, Y
h ti g P /{{F =13\
Solvet e equa |on ) 2 (e =)
|6x—3|—9 e (5) 24 — x)] = 12 -1 —
]
Cx - z,f:q " -2y =FI1Z
oa IS R - e 3 b 1
= 3+g [N > A ot
o X 2w
& V. I&_
Solve the inequality. If there is no solution, write no solution.
13' [4 — x| >3 . 14. [8x — 12| < 4 18. |1 + %x s —1 19. |2 — 54| —<-/\OO
b w42 ot 4-x>3 4L sx-1244 7 o.<{zn';>(~/ s
) -7 4 “P¥ = _
a4 =T -‘?7;1 g L& x5k Abs vclve can A ¢
l‘\T By I [ LXK 2 NOT be n & 2 Iy £ |
| : r it L = 2
[x77 o %< e snnsT]| &= s
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Practice B

For use with pa;;es 67-13

|Use the vertical line test to determine whether the relation is a function. gxPLAN .

3. y 4 y -5 Y
: i . 3 T -
N \
¥ |
IV ] 7
21N )
x
N —1F
[
! > ] 1 x
|

FONTIN Becevs
'/H‘Lb \/ L iNg TesT
(/TIU "f-}f, c ))k S H)

Practice C

For use with--pagés 67-14

1- Input Qutput 2. 311 ,2 4 7T0] T 2
3 -1 ly/0]/0/0]0]o0O
2 -5 Fu a cTh o T1 .
5 5 L e T 1 1 ! "H/i;"l x
4 - d IR
NJ{ \‘Z3 | m_‘__ N - 1 -
‘\,’1\ L . 3 | > - (
) N
"2 T S
rD J > L)
s - D 21343 -2,0,Y, 2,
Wl 5k D “..D‘ ¢

Decide whether the function is Imear Then find the mdncated value

of f(x). B
= |x| +x, £(=5)

18 f() = Tx+2, f2) 15. () = 2+ 3x— 1, f(=3) 16 /(%)
S(Q_ 7_” _*_Z | n”, =9 -9-1 < (- S, = S 4-5
| S =1y e .
L ——— | A (=72 ] = J
o R il AT
(LN~ R) AROT || e b
— \\““.-——-—-____-___—:--“"/
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Practice A & o =
For use with pages 75-81 = P\SE 1 _EK_E
‘ 120
Estimate the slope of the line. i< _
1. y. _ 2. y[ 7T - 3.0 Iy
—11 1 1
1 X 1L L X 1l
N | |
m-f{h <= M= —1j,
m-al M=o M=
Practice B -
For use with pages 75-81 \ I~
Flnd the slope of the line passing through the given p0|nt/14 (7, 5) and (7, —8)
_d-0 _ 4§ = R N e,
2 11,4),6,00 M= B —1-,— (rn = l e == (TN =UND EFIN £ D)
5. (0,—8), (—3, ) g | 16. (0,4) and (-3, 4) _
- — L - O =\
= :_8___1—:‘- ‘_'_'; 7 ‘ o T\J _ M= b, | ] =L
C) + 5 - :/ ’\.g\f_' II..‘__---"'" o By
Tell whether the Imes are parallel, perpendtcular or neither. e
17. Line 1: through (3, 2) and (1,5) ' ' 18. Line 1: through (—3, 7/1) and (4, 8)
Line 2: through (—1, 6) and (2, 8) Line 2: through (5, 3) and (4, 2)
) _ oo I oy rd = ™ - f:lj:-.- I: :j_.- -~ | <
med=2=_ 2 | mN= FR e
- TR pr ‘--.\: )
) .
. / _ A _ A=) ' .
Pis N (o= 2 ™\ ( L J\ - “_"__-:-)- = ,
(M Ll=a ) ! ; . /:J &-Y - \
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Practice C "', v <
\‘.‘i? ) /)”/'
For use with pages 82-89 L " W (U/_./ -
' < s - N Y
Q‘:’ A Y::'T)x+b m= stopc
id the slope and the y-intercept of the line. o= A r ik
@Rl Y-u,= ™M(x-x, (3)= '%“‘*r\—DA A
— Lo - -‘rV,
R ] _ cT3x+2y+4=0 9. —8&x+3y=90
m=0 \ iv -a—.s.(_y._;; “g\{_; B M Y = %X
%~'5\ R S 2 T =T D
== - TS 1 - =
— | M= @=8)c| _ | ‘
o | ==z 3 .,21 4= E. iy
Find the intercepts of the line. S tsedatt S: —
13. 3+ 4y —12=0 Bx+Hy=1Z [xid yi3 | | M= ¥/3 B=0
17. ax +y =3 |X% 2lgq E] | -
20. 2x +3y=3x—y+1 _ ——
— % 4y =) ¥t—-F N \)_j_:}
- Graph the equation.
3 4
22, y=-3x+5 24.y=Zx+1 25.x=§ . 26. 2x +3y+ 6 =
ZXx+ DY = -0
, . | y /“_ X\J —E,y \/ ' '—.,;:f
D _l | E A ZF A A
- \ D B
* A T\'\ :
N
< A > X [ >4 > X = > X e
A b
= RaN
\
¥
y/

Practice A

For use with pages 91-98

Write an equation of the line that has the given slope and -

y-intercept. : : :
5. m=2,b=0 6. m=0,b=7_

[Y=ax| =21

Write an equation of the line that passes through the given point _
and has the given slope. TN Rot  Po/NT- SwoPe AVD SLuPE (NTercerT Foam.

14. (—3,-7),m =2

#

VIS Y42 = ) (’“X*SH} | ?ls wy =2 (X2 2)
( < : (A = L-ﬂx’ ==



| 29 R cont |

Write an equation of the line that passes through the given points. /N SLaPE jNTEQCE PT

(L1069 =L
med

e,

Y.-|: 2 [(x=1)

14 =ax-1]

Write an equation of the line. 18 Eo‘T‘h POINT-3LaPE

_—;‘"17 2, 1,6, -7 p= 1]
Q.’s
M=%

4 =e - §(x-2)

\vér wwnﬂ

e ———

18. (h 1,4), (21 16) M= L\H | -2

\A-u{: q (su. )
gz o]

- AND SLoPe INTEecE PT

25' Y - ( 3,0 26'] y 27, T y
\ . 1.3 ‘ - : \‘ lEjf _\ o .._._.......-(“-{_-_ 1\
& b (L\\ 2 . E'T\\Z ' (L"
N ) =S
¢ . }1‘3 ( “_(\
3 ARS x| ,
:—3 = A : mn B/Q M= 'B
(% =-3)
Y =) = 2(x+1)
L - ’ . i W Y =
(x=%) (gﬁgzz(wd Z% | :
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2.6 lPractice

Match the inequality with its graph.
15. 3x +y > 1 ké)"i»ﬂ\@

@

- kFor use with pages 1(]8;‘1‘1"l

18, —2x+y <0 %52\(@

G 1 St

g/,__

& 5w

SQL\D L\”i- s
Domed:<, 7

0. USE e,
. g7)2x+3

19. 5x > 2 x) 45 ()

@B .

\
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2 ﬁ | Practice B

For use with pages 108-113

Check whether the given ordered pairs are solutions of the lnequallty

v ysnong 202D EAE) N S

3. Sx +y = —3; (=3,6). E(-2)+Y% 7, ~: &)
5. 4y — <S5 2,0 Y Ci ) (\ 254 5 \j SoLuTioN)

Graph the inequality in a coordinate plane.

-5
7. x =21 M.y 1.y < 2 - 1
y y y
G 1 H | 1 L[
\V \/ / N A
\ Y /] g B2 3
Y \l \( N‘ § \(\
\ AR IS TR
) WAL, B FANANS ¢
_ / 1 N AN/ v < DX
AN |1/ PP
\ / A K ANT T <
YA a4 ] BN DI
\w VAR AR SN AN
\ / 3y
\L \ ‘L ' ~
| 1 19. 2x — 4y > 8
14.y2§x+5 15. dx +y < —2
35_-’4)(‘1. XY
¥
\ YOS Y y y
& 9 Kl L
P % 7
& av
L 1A
- v - -
X HAA XN > X i ¥ T
1 Ak ~
Ak = s
| CHbS 4\ - LR T
' ) ~<K
4 e
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Practice A

For use with pages 114-120

Evaluate the function for the given value of x.

© [3ifx<0 Cfxws, ifx<3 L — 4, ifx< -2
-f(x)_{Z,ifx_>0 g(")_{zx»l,'ifx>3 h()"{3— 2x, ifx > —2

o =Q) 2 1= @ s Q) ey @)

5. g(7) ! 6. g(0) < 7. g(—1) =@ 8. g(3) ‘.
9. h(—4) = (-l 10. h(~ 2) 1. h(—;).a@ 12. h(6) ;

Match the piecewise function with its graph.

/ . ) T ..
T¢ N jx—4, fx <1 _xt+ 4, ifx <0 ' N —2,ifx <1
_ \"”3' (x)—{B_x,ifx>1 o 2 f() {2x+4 ifx>0 - f() +2 ifx>1
o [2x+3, ifx20 C[3x -1, 1fx>—1 a _[-3x -1, ifx <
f(x) - {x + 4, ifx<0 @f(x) B { 5, ifx < —1: l(x) '—’5,, ifx>1.7
] -_\‘4 -~ .. : . '/l.
\\ - \ 2 .2/ .
), x| x [ 2 X
\ /
o~ o
/D/ y //: Y [’( )’/
T {./_
21T ._ G )
i j
[ sed =3 %>
e @&\ ?(

; I
T
M



Practice A SE e O\ \ y,_ W ok

For use with pages 122-128

E j('lJrfC CTT' y 54 Jr{"

N A \’J\"t (L\)
O o.\ R A 'f)

Match the function with its graph. \’

1. f(x) = e+ 4 (® Shitvlet 2 £ = |x — 4] (B) sk 3. f(x x| + 4 Q ue H

£ £0) = o] = 4(%) Aows™ 5. f(x) = 4] B necrons 6. f(x)'=Z|x| (A) widen
. QL”}L.. 7 ren’™ ' .
_ATS 5 P;Mm%\,a/ v -2 Y]
N s:,u\ - _ ' 4
~ T \N\ae{. . |
1 x !
1 - 1
1 A x X

\l/ E NN
f oV
N e 1
3% Y 1x B — 1<
Tell whether the graph of the functlon opens up or down ‘ | lmf\m &
7.y = C3j] Dot L3+ 1| g 9yt’*[x+1|—1oww
10. y =(_§]x — 1| _|_ 3\ 1/ . 1M1. y= kh2}x + ll + 7 BN 12. y —'\—Jx = 2| + 4 OO N
| | | | ‘ll ;—'\rl) \'\f.é_ - _\
s M?\'.& 5
Identify the vertex of the graph of the given function. :
13. y—2x—3 (O M. y=|x—1+2 (1,2 15. y—-x+3—-5 /.-2w;,
\ -} /I
16.y=|x—7|—2(”-,> 17.y—2|x+1|_+9/__jiq> 13-y-——5|x+3| 7 i‘!\..‘}
4 L J) Y

~Tell whether the graph of the function is w:der narrower, or the
same width as the graph of y = |x|

\

18.y=|x-8 Spme 20. y = 2|x — 1| NARQDWS 21 y= —;-,x +3[—2 wider

22. y——3|x+1|+7 23. y———|x—6|+3 24.y=%|x|+'13
NR&RUM? I\]\\Lzu\_\ i(



